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Dominion by Serkan Yurekli
Theme: C Sharp

Rules: Shade some empty cells black to form a set of dominoes (1x2 rectangles) that divides
the grid into white regions. the dominoes cannot overlap or share an edge. Each
region must contain exactly one type of given letter, and must also contain all instances
of that letter (i.e. there cannot be two regions that contain C).

ANSWER ENTRY: Enter the length of the unshaded segments in the marked
rows/columns. For this example, the answer is “25,132”




